Mathematics

Section Id : 40503686

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 25

Number of Questionsto be attempted: 25

Section Marks: 100
Sub-Section Number: 1
Sub-Section 1d: 405036144
Question Shuffling Allowed : Yes

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

FA={xeR:|x|<2}and
B={xeR:|x—2| = 3}; then:

Options:

;
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1 A-B=[-1,2)
9 B-A=R-(-2,5)
g AnB=(-2-1)

4. A'UB=R-(25)

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

gfc A={xeR:|x|<2) 74
B={xeR:|x—2|= 3}, :
Options:

1. A-B=[-1,2

2 B-A=R-(-2,5)
3 AnB=(-2-1)

4. A'UB=R—(25)

Question Number : 51 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

od A={xeR:|x|<2} 211
B={xeR:|x—2| =3} ¢y, cl:

Options:
1. A-B=[-1,2
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9 B-A=R—(-2,5)
g A'nB=(-2-1)

4. A'uB=R-(25)

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Leta, be R, a# 0 be such that the equation,
ax2—2bx +5=0 has a repeated root «,
which is also a root of the equation,
x> —2bx—10=0. If B is the other root of
this equation, then a4+ BE is equal to:
Options:
1. 24

Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

M a, be R, a=0 30 9E & T g
ax2—2bx+5=0 F1 o TRET A €, =
HHEFA 12— 2bx —10=0 1 ¥ UF ga ¥
afg B 39 THEH H THA G B, A o +p2
TR T :

Options:
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Question Number : 52 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QL5 a, be R, a=0 #idi & 5 a/2il u{ls2el
a2 —2bx +5=0 A YAalda ofloy o €, % o
Hls2el x2—2bx —10=0 « el 2i5 ol 9.
sl B2l 2 wlszo olly ol €, dl
aZ + [_J'2=

Options:

1. 24

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If z be a complex number satisfying
Re(z)| + |Im(z)| =4, then | z| cannot be : Qcollegeduniag

~

Options:



Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

afs > T TH 9fEg g &
Re(z)| + |Im(z)| =4 F1 T el &, @ ||
ﬂﬁﬁm 2

Options:

1. V7

i

4. V2

Question Number : 53 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

od z 2 2l ¥i52 Hvl 5 o7 [Re(z)| + [Im(z) =4
4 HHEA 52, dl | z| A2esiel 2 A4 s b

Options: y
W collegedunias
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Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Leta—2b+c=1.

x+a x+2 x+l1
If f(x)=[x+b x+3 x+2|, then:
x+c x+4 x+3
Options:
1. f(50)=-501

9 f(~50)=501
3 f(50)=1

4. f(=50)=-1

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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UMl a—2b+c=1%| afg

x+a x+2 x+1
flx)=|x+tb x+3 x+2[8 T
x+c x+4 x+3

Options:
1. f(B0)=-501

5 f(=50)=501
3 f(B0)=1

4 J-50=-1

Question Number : 54 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QRl5a—2b+c=18. s

x+a x+2 x+1
f(x) = x+b x+3 x+2| €, dl

x+c x+4 x+3

Options:
1. f(60)=—501

o f(=50)=501

3 f(50)=1

°
gcollegedunlag
India’s largest Student Review Platform

~



g J-50=-1

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

The following system of linear equations
7x+6y—2z=0

3x +4y+2z=0

x—2y—6z=0, has

Options:
1 no solution.

2 only the trivial solution.

infinitely many solutions, (x, y, z)
3 satisfying y=2z.

infinitely many solutions, (x, y, z)

4, satisfying x=2z.

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

s getE * = fam
7x+6y—2z=0
3x+4y+2z=0
x—2y—6z=0
Options:

1 & €

D A T8 o 2
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y=2z % = FH 9 A A

3_ (x, 1, z) T

x=2z H F= FL A AT BA

4. (x, ¥, 2) -4

Question Number : 55 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

AlAL 33w ulszel deld
7x+6y—2z=0
3x+4y+2z=
x—2y—6z=0, A
Options:

1. Gsa el
7§52l (trivial) did del o G 6.

y=2z | HHE 52 ddll 2 G5l
3. X, ¥, 2) 5.

x=2z o MMIEA 52 ddl 2idd Gidl

-

4‘ (x. v, z) B.

Question Number : 56 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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i 16
In the expanﬁionnf[ 2a { ] ] ,if

cosf x sinb

l; is the least value of the term independent

of x when T =p= % and !'?_ is the least

value of the term independent of x when

% =0 =< %, then the ratio I, : [; is equal
to :
Options:

1. 1:16

2. 18

3 16:1

Question Number : 56 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

: 16
LIPS W % WER H, 4fe x A w6
cosf) xsinb J

He

A

4

1

3
L

e

&l

2|
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4. 8:1

Question Number : 56 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
- . x 1 \16 x -,
od [ g Al [FRdzesl, sl
cosl) x sinb

% <9< E €l i ol 2eacat wedl agru

!

el rﬁlﬂ? x ?ﬂ.

i
8
weictat wel agr Bud 1, €, dlageler 1,01,

B 1, =44 s % =p =

Options:
1. 1:16

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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Let a, be the n!' term of a G.P. of positive

100

terms. If 2‘ A = 200  and
n=1

100 200

Y as, = 100, then Z ?n isequalto:
n=1 n=1

Options:

1. 30

2 150

3. 175

L_L 225

Question Number : 57 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

M A0S T4l & Ua U del & on 9
100

‘E{a"%l Elﬁ{ LaEHI‘T = 2[]{] GE

n=1
100 200
Y as, = 100, W 2 3 TR E:
n=1 n=1
Options:
1. 300
2. 150
3_ 175
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Question Number : 57 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

QRLS a, @ e el 215 el Ael (GP)

100
AnYUED. Y ay,,q = 200 2
n=1
100 200
Y ag =100 €4, dl 2 @
sl n=1

Options:
1. 300

2150

3. 175

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let [t] denote the greatest integer = t and

lim x|ii} =A. Then the function,
x—0 X

f(x)=[x?] sin(mrx) is discontinuous, when x
is equal to :

Options:

1. VA
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9 JA+1
3 VA5

4 VA+21

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

nm[t]ﬂ'ﬁﬂtgcrﬁmgtﬁaaﬁm%ﬂm
x—0

lim _1|tjj| — AT ?-T\ltﬁﬁ:lf{x}=[x2] sin(x)

?ﬂiﬁﬁ%.ﬁﬁixw%:

Options:
1. V&
2, VA+T
3, VA+5
4. JAT21

Question Number : 58 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

iuﬁ 5[] 2 el Wiel yels < t B, 24

lim 1H _A D, 02 A x - Bue 8

I—"'n X
14, ol [ flx) = [x2] sin(mx) 2L 2Acld 214 )

Options:
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4' JA 4+ 21

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If x=2sinf —sin26 and y=2cosh—cos26,

0 € [0, 2], then d_g at 0= is :
dx

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.
Options:

3
1. 8

| o

M|

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1 gcollegedunlag

~



Iqfg x=2sinf — sin20 q9l y=2cosb — cos26,
.dl

De[0,2n] & A o= _g HHA T :
dx

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.
Options:

3
1. 8

h |G

Question Number : 59 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sl x=2sinf —sin20 24 yy=2cosb —cos26,
0 e [0, 2m] ¢ld, dl B=m 2N
dzy
de

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:
3

1. 8
3

28 4
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

Let fand g be differentiable functions on R
such that fog is the identity function. If for
some a, b e R, g'(a)=>5 and g(a)=Db, then
f'(b)is equal to :
Options:
1

1. 5

[~
G

Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

A R T SAaFeE e (G991 g T80 TFR &
% fog To0HS wer €1 AfG i a,be R &F
AU ¢'(a)=5 1 g(a)=b T, & f'(b) TN

g
Options:
1
1.
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Question Number : 60 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

BIRL S f2ird g 2 R Yadl 21l [Bsady [au o
5 ool fog @1 e [BAY W, e 518 a,beR
e g'(a)=5 24 g(a)=b ey, dl
) e
Options:
1

1. 5

]
L]
G

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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Let a function f: [0, 5]— R be continuous,
f(1)=3and F be defined as :

F(x}=jxt2 g(tdt, where g(t)= j}f(u}du.
1

Then for the function F, the pointx=11is:

Options:
1. not a critical point.

2 a point of local maxima.

3 a point of local minima.

4 a point of inflection.

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

HHA U %o f:[0,5] s R Waa @, f(1)=3 ¥
qqF, F(x)= thz g(t)dt 5 TR 2, R
1

g(t)= [ f(u)du &, drwem F ¥ fer, fagr=1

1

Th
Options:

> T s fag 2

3. wrE fEfs fag ¥
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4. 7 9REE (inflection) g 71

Question Number : 61 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ARl s [EEY £:[0,5] 5 R ¥dd 8, f(1)=3 2

F(x)= [ t*g(t)dt, e g(t)=[ f(u)du grL
1 1

cquid [EL F &, dl[B8 F ue, g x=1

2

Options:
1. [eds (g el

g -l Heam we (g ©.
3 R g we (45 ©.

4. Alafeg 5.

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

I j do B

coszli{tanm Fsec20)

Man# + 2log f(8) +C where Cis aconstant
of integration, then the ordered pair
(A, f(6)) is equal to :

Options:

1. (—1, 1+ tanf)
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2 (1, 1—tan8)
3. (—1,1-tant)

4. (1, 1+ tanf)

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

afe j db

cnszl!{tarIZl! Fsec20)

Aan + 2log,|f(8)| +C &, ST C T THIEHeH-
o= &, T T T (A, f(0)) TR E
Options:
1 (=1, 1+ tanB)

2 (1,1-tanb)

3. (~1,1-tand)

4 (1, 1+tanb)

Question Number : 62 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ﬂ do

e j. 2 N
cos“Btan 20 +sec20)

Atanf +2 Tog |f(0) +C. sl C 21 *sdeil

AN 1Y, ol sH4sc ods (V) =

Options:
1. (-1, 1+tanb)
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7 (1,1-tanb)

3. (—1,1—-tant)

A (1, 1+ tanf)

Question Number : 63 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

[x ,ﬂﬂxﬂi
2
1 1
G' . Ty = < — .r:'[:_
iven: f(x) 2 2
1—-x, 1*’-1:1
2
12
and g{xj=£x E} ,x€ R. Then the area
J

(in sg. units) of the region bounded by the
curves, y=f(x) and y=g(x) between the

I.incs,Zvr:Iand.Zx =3, is:

Options:
L]

1. 2 4
1,48
3 4
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4'4 3

Question Number : 63 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1

l.‘l ,011{1
! 2
1 1
fea X)=4— ,x==
=15 5
!1 _l,l‘:_l_l
! 2

2

]. - =
/o g(x) = fx EW xeR; A 2r=1
. g

ﬂm.zx =3 ﬁ?ﬁiﬁ,ﬁﬁy=f{xjﬂmy:g{x}
TR Uidag &5 = 4% (T THEEAi ) B

Options:
1_43
1. 2 4
1,48
2 3 4
1,43
3.2 4
o1
4 3

Question Number : 63 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
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X ,DExﬂl
2
1 1
x:-:— r_‘x:—
=13 :
1 x,lfix»_f[
2

" 38 A
Wi g{x}={x EJ L xeR 2N 8. dl

el 2x=1 24 2x = 3 Al @A, asl
y=f(x) 21 y=g(x) 4 Gl g #asn
(L@l sed w?

Options:
L]
1. 2 4
1,3
2 4
1,4
3.2 4
B o1
4 4 3

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If d_y = L; y(1)=1; then a value of
2 2
X +y
x satisfying y(x)=eis:
Options:

1. V2
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Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

afs 4 _ ., y()=17% W y@)=e

dr £ +y
1 T F Tl x FUF 7 €
Options:
1. V2e
7 V3 e
l:ﬁe
2

Question Number : 64 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

o dy xy B g

sl = = _ = _ y(I)=1 &y, dly(x)=e
dx 2 +y°

A e 53l x Al 215 Bud

.':3.)

Options:

°
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1* \E e

2* .\EE

-
Sle

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

The length of the minor axis (along y-axis)

of an ellipse in the standard form is i It

J3
this ellipse touches the line, x + 6y =35; then
its eccentricity is :

Options:
. 1 |11

1. 3V3

1
2. 2V3
5
3 6
1B
2 '¥3
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Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

HAF B H TF <HgT & oY A (y-A9 F

ﬂgﬁﬂ)ﬁamﬁ%% afz 72 <,

x+6y=8 T DI FHIAT &, T THH Iehwdl

€

Options:
1M
-| 3V3
1 i
2. 213
-I|'§
3. V6
1
4 FAR

Question Number : 65 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

245 WG Guaaadl sllel »ie (y-28 w) -l

Gt % . od 24l Guads, Yl x +6y=8 A

293, Al adl Gbegal AL
Options:

1 m
1 3 V3
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Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
If one end of a focal chord AB of the

parabola 1> =8x is at A{l, EW, then the
2 J

equation of the tangent to it at Bis :

Options:
1. 2x+y—24=0

2. x+2y+8=0

3 x—2y+8=0
4. x—y—24=0

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Ife TEed y2=8x =i Uk T(H Sa1 AB

WE}H%[% ﬂw%ﬁﬁBmsﬂ—qﬂ

e F

TIY- T o HIE B
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Options:
1. 2x+y—24=0

x+2y+8=0
2 Y
3 x—2y+8=0

4. 2x-y—24=0

Question Number : 66 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

ol Wy y2=8x «l A& WU AB o is

21 €ld, dl ddl B 2ieie-l
s

wualse uslsuel 5.

1
E.'

ey [0 A[
Options:

1. 2x+y—24=0
2 x+2y+8=0

3 x—2y+8=0

4, 2x-y—24=0

Question Number : 67 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
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A random variable X has the following,
probability distribution :

X 1 2 3 4 5
P(X) : K2 2k K 2K 5K?
Then P(X > 2) isequal to:

Options:
1

95
3 36

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

T AEf=a% =51 X Fl Aiashal 924 7= 2 ;
% 4 3 & 4 B5
PX) : K2 2k K 2K 5K2
@ P(X > 2) T #
Options:
!
1. 6
z
2_ 12
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23

3. 36
1
4. 36

Question Number : 67 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1

25 YERDS X 2 sl Bl A2 ysot
8
X 1 2 3 4 B
P(X) : K2 2K K 2K 5K2
dl P(X > 2)
Options:
1

1. 6

Question Number : 68 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 Wrong Marks: 1
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If 10 different balls are to be placed in 4
distinct boxes at random, then the
probability that two of these boxes contain
exactly 2 and 3 balls is :
Options:
945
10

b3

1.

5

L2
]

i

5

10

i
i3

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

Afs 10 794 7€, 4 To= 901 § Ag=sa

ST ¥, o ST S ==l | e 2 991 3 el 6

Options:

945
510

5

MO
]

&

oy
)
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4 ZH}

Question Number : 68 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

sd 10 [t ssttiA, 4 (B viwl Wi welels

e sl €, dl 2UHIAL A Vvl L eRIeR

2 A 3 g6l €l adl dousl seell )

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1
o :t_
fx=> (-1)" tan“"p and y = cos
n={} n=I{)

ll'l”'

for {]{Hc:g,men:

Options:
1 y(l1+x)=1
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5 wl=x)=1
3 x(1-y)=1
A x(1+y)=1

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

: o0
?Ii‘an-:ec:g?ﬁfm,xz Y (-1)" tan™0

n=0

GEI y=£ cos™p €, 9 ;
ni=0

Options:
1 y(1+x)=1

2 yl1-z)=1

3. x(1-y)=1

4 x(1+y)=1

Question Number : 69 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1

E;i{]{[-}{g U2 x= b tanZ"0 i

n={

e ]
y= }_‘ cos0 €, dl :
n=(}

Options:
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1 y(1+x)=1

2 y(l-x)=1
3 x(1-y)=1
4 x(1+y)=1

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 Wrong Marks: 1

If 'p—} (p ~ ~q)is false, then the truth
values of p and q are respectively :

Options:

1, EF

2' T,F
3. KT

4, TT

Question Number : 70 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 4 WrongMarks: 1
e p— (p A ~q) FHAT W p A q F
FOY: TITH
Options:

1. EF
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3, mE

3. KT

4, TT

Question Number : 70 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 4 WrongMarks: 1
o p— (p A ~q) Y&, dl p 2 g -l
Aol el 254 &.

Options:

1. EF

3 FT

4 TT

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

Question Number : 71 Question Type: SA

Correct Marks: 4 Wrong Marks: O
If C, = ¥C, and
Co+5C;+9Cy+ ... +(101)-Cys =27k,
then k is equal to

Response Type: Numeric

2
405036145
Yes

°
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Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 71 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

g C. = PC, 7™

Cy+5C; +9-Cy+ ... + (101)-Copg =22k,
k R & |

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 71 Question Type: SA
Correct Marks: 4 WrongMarks: 0

-y

s C EEEC!."-‘I:I

I
Co+5C;+9Cy+ ..... +(101)-Cos =22k

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

The number of terms common o the two
AP's3, 711, ...407and 2,9, 16, .... 709 is

i —————

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

Question Number : 72 Question Type: SA
Correct Marks: 4 WrongMarks: 0

2 guiear 4fedi 3, 7, 11, ..., 407 9912, 9, 16,
ey 709 H THATS (common) e T TS §
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Evaluation Required For SA: Yes
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

1l4t0 14

Question Number : 72 Question Type: SA
Correct Marks: 4 Wrong Marks: O

of wuidz Hel=ll (AP’s) 3,7, 11, ..., 407
wd 2,9, 16, ..., 709 Hl deu- wsiHl v
AT, !

Response Type: Numeric

Evaluation Required For SA: Yes

Show Word Count: Yes

Answers Type: Range

Possible Answers:

14t0 14

Question Number : 73 Question Type: SA
Correct Marks: 4 WrongMarks: 0

If the curves, xz—ﬁx+y2+8=ﬂ and
x?—8y+1y?+16—k=0, (k > 0) touch each

other at a point, then the largest value of k

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

36t0 36

Question Number : 73 Question Type: SA
Correct Marks: 4 Wrong Marks: 0

afg 9% x?2-6x+y>+8=0 aHI
=8y +y?+16—k=0, (k > 0) TH TH =l
s fag W ol 9 € @ k 1 aAfeswan 7E
i [

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

36 to 36

Question Number : 73 Question Type: SA
Correct Marks: 4 Wrong Marks: O
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| o5 L x2— ﬁx+y3+8=ﬂ e
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Show Word Count: Yes
Answers Type: Range
Possible Answers:

36t0 36

Question Number : 74 Question Type: SA
Correct Marks: 4 Wrong Marks: O

If the distance between the plane,
23x—10y—2z+48=0 and the plane

containing the lines

i‘ll_y.’fn z+1
2 4 3

i g g
and == (heR)

is equal to ﬁ then k is equal to

i oo ———

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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| . |
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 74 Question Type: SA
Correct Marks: 4 WrongMarks: 0
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

3to3

Question Number : 75 Question Type: SA
Correct Marks: 4 Wrong Marks: O

—  —

-y
Let a, b and ¢ bethree vectors such that

—

—¥ — ¥ =¥

‘a‘ =ﬁ, ‘b| =5, b-¢c =10 and the
i g = o

angle between b and ¢ is a If ais

—

5
perpendicular to the vector b x ¢, then

a Xx\bhb x ¢

is equal to

Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:

30t0 30

Question Number : 75 Question Type: SA
Correct Marks: 4 WrongMarks: 0

AN A GRS a, b 91 ¢ THIHR & &
Bleglles &2

a=~.-'{3_,h=5r b-¢c=10 o941
Eaﬂic%aﬁﬁmﬁm%%laﬁ:a.m
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WERE |

Mg

Response Type: Numeric
Evaluation Required For SA: Yes

°
Qcollegedumag
India’s largest Student Review Platform

~



Show Word Count: Yes
Answers Type: Range
Possible Answers:

30t0 30

Question Number : 75 Question Type: SA
Correct Marks: 4 Wrong Marks: O

— — -
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Response Type: Numeric
Evaluation Required For SA: Yes
Show Word Count: Yes

Answers Type: Range

Possible Answers:
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